>

RIBEE T 28R
07633 = (&

1.3U®IC 2.8NTGE 3ERAE 4EAIER 53L&



Calcul

FEM

ulc)
N2

2
-
| -

B3 BXD
|

v
A

250

ooo0 ooo
o000 000
ooo0 ooo0
o000 000
o000 ooo0
ooo0 ooo0

12
o
>
<

2N

R
N=REX=2)u

(Q\|
—i
P d
._.D\
-
<

S

240cm

240

B ETIL

N

% ABEARER 5.3F&6

N
/.

3.5

=

N
/.

N,

2.5

C

1.3 8Dl



[ BRI RARAWS o o T ]
1 fwa iﬂxﬂw Vu.# ..u e H&M \4\4.4,1 w_w
-VM;M#M#M#MJ IR a#m;%
STy \ﬂff,}m
ENS I e N e i
1 _ﬁ.u?a, oS 1S e e e, e S
.¢a¥ .r.*\*.r 3 U*Uﬂy.h o ﬂy\ﬂwxvywyv -4
et v? SAS S (e ST T A
ORI T T g A @A T L %
_Mwaw,_x_ﬁﬁ; o alwyxrxl O I
AR QT TS © By
1 o R R D S e M 23
¥ et et e e e |11 S SO ‘
N e e e e e N 0 T S
it M_x,y.x A .- e A S P
D T 1 [ e N N ] ;-
I Uw#yauwu##w*fﬂ N A ANAIFD ML A
—- 4154 e T NNET b L e ey j
kT THISIRINR SIS
\J R St D\ K
SRRERE Ny
l._T. Aol ¥ \w\.ru r n4¥w#v+”4w4.u4v+ / Pk
1 ... i.o .\4..- \4.4 -4“4/ , un J\#V#f\*y.#y(vﬁx / ]
SR }nywxi 2 ?ﬁ«&ux?wﬁwu LS w
\¢4 M#xiywx;xvx,xaxfx,xv x
M e B e R e 4T \T L,. \T b e e e e
,.x. D I Thge P o J ,..4.. 2
e <15t AT SRR e
I S O N N SRR T
T e T e S e e e
.m w TR xxay,xwywxwxwxqqaxﬁ
—- i1} bt s JVW fuf; B e wa uwx,nvﬂx i
\_. wi.. i

\4,. \+
) ,x. M\w&f.*.xﬂa N\.wﬁ s
LI EST EA VA

>

L

4 BTSSR 5.3 &0

=

N
/

N,

3.5

=

N
/.

N,

2.5

C

1.3 8Dl



0_3\-—3@“7\‘

-0.01+

-0.02}

-0.03 ¢

22}
18}
14+

10+

f’

Y

<

5 10 15 25

1.3 »IC

?1

E

1 | 1 1 1 | | 1
Sl

20 25 30

| B

510 15 25

2MNAE 3EAEE ABARBR 5.3&8

35 En



. . I3.38€-02 I3'94e_01 I 2.21e+01
Y | -1.92e+00 |-5.86e+00 | 1166401
I -4.04e+00 |-1.27e+01 I
‘ 6.05e-04
~ \ I | I I I I ' '
CU 0005 r 7 -~ -
© or 7 g 22
= : < 18]
g} -0.01 . .g
& 002! _ S
' | .}
-0.03 - 10}
15 20 25
- > I3_38e_02 |3.94e—01
y |-1.90e+oo |—5.8Ge+00
4.60e+00
|_4_04e+00 |—1.27e+01
1.3UMIC 2.8BFAE 3.8BAAE 4.BAER 5.3&68

6.03e-04



1.3U®IC 2.8NTGE 3ERAE 4EAIER 53L&



	ページ 1
	ページ 2
	ページ 3
	ページ 4
	ページ 5
	ページ 6

